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CALCULATOR EX'S

Use a calculator to evaluate, correct 1o two decimal places in standard form: -

1 586 j7 00634 + 0.862
L0472 % 0.0683 “70.123 - 0.186
5 345 X 107 % 1.34 3 17.7
" 8.73 x 107 x 7.69 x 107 " 3141 x {8.62 — 6.88)
3,671 - 3.34 X 5.62 19, 438 x /9640
4 0.00283 20, 8.36 - 689
) 0.431 + 234 X {).754 . * /534 X 1‘32
5 132 x 842 107° 6.14 X \/9.76
T 00683 - 347 S04 - Vess
6. (42.8 = 16.9) + (173 X 4.07) 9, V819 — 6.08
_ J4.38 — \/3.41
y R R— 23, (8.93 x 107 X 1.68
* 0.468 + 0.933 - @ y x L
o _0.608 X 0.867 | Jq, (893 X /683
/0.0873 % 0.681 " 5.86 X 4.13 X 3.89
o, 0681 x 1.08 45 89.3 X 426
" 62.8 + /834 ' " 0.073 X 0.00614

41.8 % 3.41 % \/86.4

10. 26. 0.006 83 + 4.6 % 0.125
V235 X 4.41 + 5.63 ’
: A4 10"
11. V693 + (4.87) 2. 5 2322 508873
12, 2.83 + /8.96 - g 48, 206 x 107
~ ) 85.6 — 3.89 x 2.43
3 8.93 x 10
32 x W07 x 420 x 1070 29, 1 13
14. 0.0683 + {%36% - 10, 8.34 — 00!836
15. 0.0684 x (9.86 — 7.97) 31 m . \/379‘
1, 867 x 107/ . 3y 0691 + 0483
" 223 + 10.7 x 3.86- T 00681 — 0.0493
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